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Questionl:-Which of the following statement is/are correct about the Preamble of
the Indian Constitution?

(i) Itis borrowed from the constitution of America

(ii) The terms "Socialist" and "Secular", were added to the Preamble of the Indian
Constitution in 1978 through the 44th Constitutional Amendment

(iii) Pandit Jawaharlal Nehru presented the Objective Resolution in 1946 in the
Constituent Assembly, eventually took the shape of the Preamble to the Indian
Consitution

A:-Only (i)
B:-Only (i) and (ii)
C:-Only (i), (iii)

D:-Only (ii), (iii)

Correct Answer:- Option-C

Question2:-Which of the following statement is/are correct about Fundamental
Rights in the Indian Constitution?

(i) Part lll of the Indian Constitution deals with Fundamental Rights

(ii) Article 12 to 35 of the Indian Constitution deal with Fundamental Rights

(iii) The Constitution Eighty-Sixth Amendment Act, 2002 inserted Article 21-A in
the constitution of India to provide free and compulsory education to all children in
the age group of six to fourteen years as a fundamental right.

A:-Only (i)

B:-Only (i), (ii)

C:-Only (ii), (iii)

D:-All of the above
Correct Answer:- Option-D

Question3:-The fundamental duties are included in Article 51A under Part-IV A of
the Indian Constitution. Which among the following is/are a fundamental
duty/fundamental duties in the Indian Constitution?

(i) To uphold and protect the sovereignty, unity and integrity of India.

(ii) To defend the country and render national service when called upon to do so.
(iii) Exercise the right to vote properly at every election.

A:-Only (i)
B:-Only (i), (ii)
C:-Only (i), (iii)



D:-Only (ii), (iii)
Correct Answer:- Option-B

Question4:-Which of the following statements is/are correct about Election
Commission of India?

(i) Conducts election of the President, Vice President Members of Parliament and
members of State Legislatures.

(ii) Preparation of Voters list

(iii) Gives recognition to political parties and allots symbols to them

(iv) Drawing up the boundaries of constituencies

A:-Only (i)

B:-Only (i), (ii)

C:-Only (i), (ii), (iii)

D:-All of these

Correct Answer:- Option-C

Question5:-The President of India is elected by an Electoral college consisting of
?

(i) Elected members of the Rajyasabha

(ii) Elected members of the Loksabha

(iii) Elected members of each state's Legislative assembly

(iv) Elected members of each union territory possessing a Legislative Assembly

A:-Only (i)

B:-Only (i), (ii)
C:-Only (i), (ii), (iii)
D:-All of these

Correct Answer:- Option-D

Question6:-Which of the following statement is/are correct about Parliament of
India?

A:-Money bill can be introduced in either house of the Parliament
B:-No confidence motion can only be introduced in Loksabha

C:-President can withheld any bill passed by the parliament without giving his
assent

D:-Joint sitting of the parliament is presided over by the president of India.
Correct Answer:- Option-B

Question7:-Which among the following organizations is established by
Anandhatheerdhan?

A:-Athmabodhodaya Sangham
B:-Ananda Mahasabha
C:-Jathinashini Sabha
D:-Rashtra Sabha

Correct Answer:- Option-C



Question8:-Which among the following is written by Pandit Karuppan?
A:-Sivasathakam
B:-Adwaitha Panjaram
C:-Jathikummi
D:-All of these
Correct Answer:- Option-C
Question9:-Arrange the following correctly

(a) Sucheendram satyagraham (i) T.K. Madhavan
(b) Achippudava Samaram (ii)  Poykayil Shri Kumaraguru Devan
(c) AdiLahala (iii) Dr. M.E. Naidu

(d) Kshethra Praveshana Prakshobham (iv) Arattupuzha velayudha panicker
A:-(a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
B:-(a)-(iv), (b)-(ii), (c)-(i), (d)-(iii)
C:-(a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
D:-(a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)
Correct Answer:- Option-D
Question10:-Which of the following statements is/are correct?

A:-Smt K R Gowri Amma is the woman minister in the first cabinet of Kerala
Legislative assembly

B:-Smt Annie Mascarene was the first woman Member of Parliament (MP) from
Kerala

C:-V S Remadeuvi is the first woman Election Commissioner of India
D:-All are correct
Correct Answer:- Option-D

Questionl1:-Which among the following articles of the Indian Constitution does not
deal with Environmental Aspects?

A:-Article 48A

B:-Article 49

C:-Article 51a

D:-Article 253

Correct Answer:- Option-B

Question12:-Which of the following statements is/are correct about MGNREGA?

(i) Launched by Ministry of Rural development government of India in 2005, and
is one of the largest work guarantee programmes in the world.

(ii) It ensures legal right to work and addressing the causes of chronic poverty.
(iii) If work is not provided within 15 days of applying, applicants are entitled to an
unemployment allowance.

A:-Only (i), (ii)
B:-Only (ii), (iii)
C:-Only (i), (iii)



D:-All of the above
Correct Answer:- Option-D

Questionl13:-Which of the following statement is/are correct about Union Budget
2023 - 24 vision for "Amrit Kaal"?

(i) Opportunities for citizen with focus on the youth

(ii) Growth and job creation

(iii) Strong and stable macro-economic environment

A:-Only (i), (ii)

B:-(i), (ii), (iii)

C:-Only (iii)

D:-None of the above

Correct Answer:- Option-B
Questionl4:-Indian Forest Service is

A:-All India Service
B:-Central Service
C:-State Service

D:-None of these

Correct Answer:- Option-A

Questionl15:-The President of India who proclaimed National Emergency in India in
19757

A:-Fakrudeen Ali Ahammed
B:-Neelam Sanjeeva Reddy
C:-V.V. Giri

D:-B.D. Jatti

Correct Answer:- Option-A

Questionl6:-Ram is provided with 3 sticks and he observes that first stick is bigger
than the second stick and second stick is bigger than the third stick. When he infers
that first stick is bigger than third stick, which characteristics of Jean Piagget's
cognitive development is he demonstrating?

A:-Seriation
B:-Conservation
C:-Assimilation
D:-Transitive thought
Correct Answer:- Option-D

Questionl17:-'In what way congruent triangles differ from similar triangles?' This
question refers to which component skill of probing questions?

A:-Redirection
B:-Refocusing

C:-Seeking further information



D:-Increasing critical awareness
Correct Answer:- Option-B

Question18:-Classify, contrast, detect error, establish relationship, interpret etc are
all verbs representing which level of educational objectives according to Bloom's
Taxonomy?

A:-Application
B:-Knowledge
C:-Synthesis
D:-Comprehension
Correct Answer:- Option-D

Question19:-After preparing a test if a teacher repeatedly administers it to the
children of same age group in order to find out consistency of test scores, he is
looking for the test's

A:-Objectivity
B:-Reliability

C:-Validity
D:-Practicability

Correct Answer:- Option-B

Question20:-Which model is designed to provide students with a cognitive structure
for comprehending material presented through lectures, readings and other
media?

A:-Inductive thinking
B:-Mnemonics
C:-Advance organiser
D:-Scientific inquiry
Correct Answer:- Option-C
Question21:-88 IYNSIHNYY 03003B0 2eeesdoess™?

A:-50203005
B:-eampss
C:-23923030enx®
D:-ﬁom?@emg‘;

Correct Answer:- Option-A
Question22:-m@:}"uae@odowG e9§b 8% YN 03003 JNENYY FedRNTS?

A: -quiraefgjam

B: m?soaaméojoa



C:-@&moémwﬁ,
D:-2003,056¢00

Correct Answer:- Option-C
Question23:-3¥NTIHNYY 2w0Tse BRY 03503B0?

A:-R3908 B0
B:-ged0dm
C:-Bogdme
D:-goNodoe
Correct Answer:- Option-D
Question24:-eaoa§caa drirééﬁeddc QOORYE.
A:-ered
€9
B:-detsnieh
C:-25e0ned
D:-wn®
~N

Correct Answer:- Option-D
Question25:-BB3QD035eG Q) FOBRITI 23EINL

A:- 53R CE TR

B:-MCD?E"'

C:- 23R @3%

D:-so5ores &3¢

Correct Answer:- Option-C
Question26:-035933 25eHad DedR e’ 3085930080 A CRDI03CVOT ACPIRQEITS?

A:-2300801R0RR°

B:-dredadnecoss®

C:-233023030e0x°

D:-ogn°

Correct Answer:- Option-B
Question27:-3$NBZHNYY 0350:3)B0 2300030 oeRd 9Y?

A:-w0030 Boeredsa’

B:-a35° S0y e



C:-3RR¢MaQx° B2

D:-3,00M9%° ZFTVOL

Correct Answer:- Option-A
Question28:-‘az§poifae&5€ odooss wﬁrﬁéﬁc@d?

A:-0953CT3

B:-Bp805,

C:-Bere3d

D:-eag&raoa

Correct Answer:- Option-A
Question29:-035= B8 AT dﬁs—‘@ﬁe@cﬁ?

A:-Fazémao&ms
B:-oezt
P
C:-e3005°
e3 N
D:-d0d%»

Correct Answer:- Option-B
Question30:-e30&3 SCE* WIRPOBTOZ)BO

A:-FpedBd et
B:-e38F 03,0wa8,00
C:-Z0encmoden
D:-&Rcedne22)adre

Correct Answer:- Option-B
Question31:-3§60&>§b BRRO mado@ws& [ \apkelsn]

A:-Bpincs®

B:-gm&aﬁcx‘

C:-r030x°

D:-3%eRea°

Correct Answer:- Option-C
Question32:-Fpetdey Brootsdean® wert IBoILI)DY?

A:-pHBO 228503 Soees

B:-pHﬁb TR SINBOD IPOT



C:-33330I3F0 323503 FewT
D:-soxma508ag) TFRRD BB IPOT
Correct Answer:- Option-D
Question33:-3¥NSF)NFY 0350:)BO SVICY B’ mmg Sz HNT?
A:-A-DNA
B:-B-DNA
C:-C-DNA
D:-Z-DNA
Correct Answer:- Option-B
Question34:-e3383,019000° J5pe3800T & I3 23;3
A:-38B pH
B:-éz%zﬂ pH
C:-0907 Bexr emoa—amoé
D:-090% pCO2
Correct Answer:- Option-B
Question35:-35»TS0Y &3R8 T203OE IPOTDN F0W0HS FT2OE
A:-B0g=Z0 BeoRezd
B:-B0eg=go B oredd
C:-BoFoReRE 83WIT
D:-e55)mmvsgy e esdd
Correct Answer:- Option-A
Question36:-3$NIJ)NLYD 0330 mdodao TR 50 0PIY?
A:-es3°
B:-3y03nc2n®
C:-e383°
D:-3Q°
Correct Answer:- Option-D
Question37:- 20m) Q08D gm)dfac £33 QL0
A:-GABA
B:-roesdoces

C:-2dYyn®



D:-ea;%eijjeﬁ BRCOV®

Correct Answer:- Option-A
Question38:-20Q 053¢ 335° Fo° rieh 03RF)wdr BEodeN?

A:-mmzbem

B:-mag.)m

C:-S3se00e5

D:-gi/adocm

Correct Answer:- Option-A

Question39:-e3035n° ©03NYEH 20BACHE* BB B0 wHBAeEeod) BedNTY
wWidSedriodogh Aadroger BoeEom M0d0gF wer® Nt

A:-§Jac§.raezaeas ned
B:-2.08s0¢ 23¢n® Ned
C:-%oz° Ben® ned

D:-2s00n¢ 23¢® ned

Correct Answer:- Option-C
Question40:-e&edpctdnd 6303 mmgmﬁ BRI Q) AT
A:-003ned
B:-d»oga (@ oeg)
C:-309035000°
D:-zog5°
Correct Answer:- Option-A
Question41:- BeSBRCBE B FOR, 0RO TBOLWNIZT,

A:-gﬁ./aﬁod)s‘
B:-Zulncinely® ned
C:-20t3,055035° BB
D:-Bye3eBa08 a5
Correct Answer:- Option-D
Question42:-80¢3 WgE M %030 8 F¥NT 03503033, 502 0RIT?
A:-ﬁozé&za@&
B:-den



C:-Ug3e3n

D:-0g g0

Correct Answer:- Option-B
Question43:-ZReneR® IIeEWR WeREHCBE FoR)

A:-es@aeﬁjawc%#

B:-e983d%0

C:-3BR0%°

D:-ﬁdé&fae?m—s

Correct Answer:- Option-A
Question44:-3;380)0° A0g@ e ¢s30® 23

A:-XX

B:-XXY

C:-XY

D:-XO

Correct Answer:- Option-B
Question45:-37° @3° Dotdn’s YROLID® 1} GLWIHOE

A:-£9003930300 &gﬁ?ﬁs
B:-008% 08i03E
C:-2§) B000BIII
D:-es3¢ 30350

Correct Answer:- Option-C

Question46:-3eQon® A03eCHITO® NYR BOD'RD eaab@do% FYNSYNYY 0300350 ézgo
APTDINTS?

A-883° | QaFord Seried

B:-t3=° Il Qe onm 3egrisd
C:-é%w—‘ l Qo %egﬁ%b
D:-&riex® 3eried

Correct Answer:- Option-B
Question47:-288ReHpTdecsn’ 8 39033 WVS

A:-é@afvcsoﬁps
B:-t590° $Tn°



C:-é@aqu‘o’ﬁocs‘o‘-’m‘
D:- 3385 w°
Correct Answer:- Option-B
Question48:-29gedode T EdHFean® wee OB
A: -8R R BRI
B:-§,e308055°
C:-Bpcma5°
D:-£3223950°
Correct Answer:- Option-C
Question49:-?-Sifacéfadfam;\\—s c,—-é)é&aadgp m%)a'aﬁ E3,0300300N WM.
A:-2030cdeedont
B:-2003ecmagie on'
C:-20350eB8BOHCRD®
D:-wadeesdon?
Correct Answer:- Option-C
Question50:-3¥ABI)NFY 03B 30300 ATEFT (estdsoe 'a%ma“) Fo0E 9e)?
A:-2830830 o000
B:-Besaes’e 2070 e30°
C:-(i)mé@odsf25 2003
D:-m@wd‘.’)e)‘ 2BRC%°
Correct Answer:- Option-B
Question51:-Bavte S9ED000E Barts IIN wk3on® PN
A:-330° wIg3on®
B:-mom e wakdon®
C:-259t30n°
D:-a@wfe watdon®
Correct Answer:- Option-D
Question52:-33:0we0305 Y 259303 HoZIP0O JBORB B
A:-30z0 §§§

B:-Q2f



C:-@w%)
D:-30&%32303
Correct Answer:- Option-B
Question53:-99T0B¥TVICOS & 13eFRYIR a‘azfmdd €90300R £03) 333356836 200 0QT3.
A:-IUCN
B:-WWF
C:-CITES
D:-WTI
Correct Answer:- Option-C
Question54:-z§508J03> Fx020:) w8x0a3pN0E MY wOTadF BURIT.
A:-)rfeR?
B:-aaieRn®
C:-aeRn®
D:-esNcee0
Correct Answer:- Option-C
Question55:-3Eoe00B-IPBOTO B*-2kd FPSer =’ HO0I 0 SNFS GLEIBOFI0IINT.
A:-2)0350¢20300° Bz
B:-ﬁdg)./a&)w o
C:-dgicﬁe:) eawobadsz?
D:-0agye0d> SLDIEST
Correct Answer:- Option-B

Question56:-3,0t303,038 B0 Sg F9000D msaogeoﬁ@e’go IROTOROD DFOI B30 0303
0303y DT VTIBTF0359NS?

A:-RS3° ©QFon®
B:-amests ©Qson®
C:-9020830M¢ Qe one
D:-%mé:%‘oés‘ o on®

Correct Answer:- Option-C
Question57:-3$NIJH)NFY 0350)R0 23€308 BLFOIVYE 9Q)?

A:-S30z0k35°

B:-Odx3005¢



C:-§K§fam&‘
D:-e;s%s‘ai/aefgpgs

Correct Answer:- Option-D

Question58:-0359x3 AR agz,’ﬂe'ﬁ §éo&>céa‘ ROPJROR)DY?

A:-20559£35°
B:-e9&0cm0g3 st
C:-33%e o’

P ~N
D:-ﬁ@mgﬁe

Correct Answer:- Option-C

Question59:-ggedodm [0 srieodd DFYE FESNYID HeIRRRIT FoIT NE

A:-Zo0° mg\)ﬁoou‘
B:-w%ées‘ mgodoow
C:-mgi-'ﬁ‘
D:-Qdadectdpedses®

Correct Answer:- Option-B
Question60:-$é;§g a;’ﬁeegmb 03003 gc‘s’eéﬁﬁﬁeaﬁ?

A:-59e38e 5 B ries
B:-2.00d00t30° B B33
C:-eg5edadon® Bie3
D:-9Badee0300° & e
Correct Answer:- Option-B
Question61:-3efe BELWT @e@eua‘-q’ogorﬁs ORI 3§
A:-e92300e5
B:-Bczas
C:-me?é‘()ogm
D:-28¢

Correct Answer:- Option-A

Question62:-§)€aﬁ€6 Oim@dgb SPOTIT F)0OES 0B TONEFHBIB?

A:-90M0L30eBRw DA
B:-10 203350 %o



C:-Ne353n R)oaeSried
D:-200¢0T R)To=n%d

Correct Answer:- Option-C
Question63:-ze03cod> RRN[IFE T 2050 FEALYBEIS $§ 03539007

A:-Decw0e® m&;
B:-20.%.2. esogoomos
C:-2.8.8 ©o0300°
D:-%3.9. Bodfen®

Correct Answer:- Option-A
Question64:-3§d R000 BRXBEY 0350x 080 BFaINYE FoBRITIZL?

A:-Snce
(<]
B:-Faszd
C:-300338 S90dovs
D:-90530°

Correct Answer:- Option-B
Question65:-3¢N3 0dooss 3§mf§> PO GUINZOV WIRVINIZHDY?

A:-5o800e 0% wAednedodox®
B:-Bpcsa® g&/a;%q—”ooa
C:-D0020°* TPTBm
D:-iec2&0300 238030

Correct Answer:- Option-C
Question66:-23¢ S?r{e‘? 3esd notnYY FoBRITON SBIRTIALN® ToodoFSeR0?

A:-830ETVTIPO IrEOBBODE)

B:-09f Zewt eaib UVE ARV
C:-azé,és’@ezsaiess emaawaﬁoo RBI0L [ITBEV
D:-305e© ot dz&a‘s’ojogb N Z I SV)

Correct Answer:- Option-A
Question67:-3¥NTI)NFY 0dRBBTO B edaeR33* ADETT 30N WFRLRMIZU?

A:-FAA
B:-2gmoe*



C:-Famtodj‘;gd
D:-ea?oé&faeﬁad%ra“

Correct Answer:- Option-C
Question68:-0350 3§mf§? Qe BATY FTWNYS OB FOBIO 0NTS?
(i) esoxdneBrcat
(ii) 6@030301)26@&56 %5;36
(i) Beeeoadoo
(iv) esoxece
A:-(ii), (iii) S59g
B:-(i), (ii), (iii) Soog
C:-(i), (ii), (iv) S508
D:-oQxe

Correct Answer:- Option-C
Question69:-R5oxx A3 qmgi 03503)BO?

A:-3835:30°
B:-wo®¢ 0300°
C:-83g35ce®
BHECLILINEINADELON
Correct Answer:- Option-C
Question70:-TGF BRCTIXE T B BEIF 20RO YVIBTE303IONT?

A:-2020
B:-m@’&ggg
C:-es508
D:-ilec@od

Correct Answer:- Option-B
Question71:-t538Rc¢ Besncanisd YETQ ToERITIZT.

A:-g.%m
B:-ﬂmqe&)od)a
C:-230B0°¢
D:-ﬁdﬁss

Correct Answer:- Option-D



Question72:-030%a03ece £35° Fee3Ne S0 9303 2T WIS 03I0F)?
A:-ZR et3ema0dd? 8595 303008
B:-2.500%° 20903
C:-2083/0200 03,€:35¢ 203903
D:-80»d%00° a@euesn®

Correct Answer:- Option-C

Question73:-3§ YIS 302 0P BTSN Fodeend odre)e womy ©oad gz:basaﬁgo
003>Q3RITYBO B> 5§ﬁ5mﬂd

A:-& 30w’
B:-Zom05¢

5]
c:-@am@mw
D:-sawen®

Correct Answer:- Option-D
Question74:-88 3YNSIHNYY 0300380 :’og)?

A:-Bpdan’ 3R0° BRearied FodrodrRmodyg) 3500 SEI3d
B:-3035° dneaniehd oneny IesnQ 3% 35003 SerE03E
C:-59808300° 3,003Me0 850 FoRBE0DY FH03 BB
D:-§8,0e35° 3390 DedR SZ=SP0 33

Correct Answer:- Option-A
Question75:-83 3$NIIH)NYY 030330 mgb?

A:- 0BT BT B BFPCTI0T MmN WB I
B:-3,e80020° B0 [0B 030TeReRN WBLRNRIZE
C:-0300022¢* BRodsees® 3B E3domeN wEeengs
D:-§t37° e3> BeQoseR 50 00N

Correct Answer:- Option-C
Question76:-%mas-z (lac-z) 2en® TOBIRITOD BRLIONE ﬁgoﬁ 03503)B0?

A:-BAC-a"go“
B:-YAC-ﬁgO‘
C:-PUC-dgCJ6
D:-PBR- 322-5‘&5(56



Correct Answer:- Option-C
Question77:-Ssc0z0e30¢ (Monsanto) 30800300 m@dﬁﬁwo@%d?

A:-1teegn® 3x°

B:-3}¢=30° Besof é&/angifacxs
C:-830¢ dee30° Jew
D:-éd@zss 50 F

Correct Answer:- Option-C

Question78:-a0@0 dgetden® BTN Jgy NP BUeIZL) 035E FIFT[T
WFIINZT?

A:-?,JD";E:d
B:-c,;Tamed
C:-§§o‘
D:-Comseces®
[
Correct Answer:- Option-A
Question79:-Bwe* F@on® BRBA30Y HZFEDS S0Q HV?
A:-1
B:-0
C:-<1
D:-0.5
Correct Answer:- Option-A
Question80:-9:3:4 ©RBoH3:Y) 0350 Dedodd Wew® FTFT éobodogo NORRRIZTI?
A:-‘aogozooeaa wep®
B:-B00&80083D e’
C:-B332° D27
D:-@aom0es* HRRIR
Correct Answer:- Option-C
Question81:-0d5ex Bedodo RNA 2e3Boe3nyd) éz&z‘p FR0080B Y TOBRITOZTS

A:-rRNA
B:-mRNA
C:-tRNA
D:-8y8»e RNA



Correct Answer:- Option-A
Question82:-88 I3YNSIHNYY 03003180 30&32(@ 3JEYNE AOT® B YVTIBOF20370NOTI?

A:-3003 303 §5§
B:-smogunesen £0x0 gwg
C:-&Sew® I0x0 ?5:5’
D:-Bx¢3° 00 ?dg
Correct Answer:- Option-A

Question83:-3¥NTJ)NFY 0350HRO BATIRON 9QONL?
(i) wBaeen®
(i) BRED® BT R
(iii) Qoegdem®
(iv) esBeedodse
A:-(i), (ii), (iii) =098

B:-(i), (iii) S5o8,
C:-(ii), (iii) S0o8
D:-oQ%e

Correct Answer:- Option-B

Question84:-32030030 3§do§’abe egde rocogearnid ot 3033030§b emaawaﬁe» 03003
ammm WFRNRIZT?

(i) ,uaﬁ 200 (ByBRe JpHrican)

(ii) ﬁae):‘* aezsaid’mw‘

(iii) 236&5 BRFEO3NTBOIVNT

(i

(

iv) L{f,oon“
V) e3eoldodont

A:-(i), (ii) S8

B:-(iv), (v) R598

C:-(i), (ii), (iv), (v) =598
D:-oe0

Correct Answer:- Option-C
Question85:-ZR35e30° 8 Jorio® Bon's 3B 03508 INEW &RPCR® MY FoBRITIZS?

A:-H1 &30ecn®
3 ~N
B:-H2 &30cn®
3 ~N



C:-H3 &gfaeafv
D:-H4 &zxeen®
Correct Answer:- Option-A
Question86:-7@o adres Dedodd Dezsés FQoRBN xe0Ts?
A:-Egmod,
B:-098059035°
CZ-@eZ)q_)c)OLiT;
D:-3s80590458
Correct Answer:- Option-A
Question87:-me3eac§e290m 03003 Sg BOLOOWT FEITINTS?
A:-es3e32030030¢
B:-eodeesedodoe
C:-0oe3ex030¢
D:-oi»:-"gae%robe%abe
Correct Answer:- Option-C
Question88:-0350x3 3§ BT 20BAX0VF BTN FOBRITISS?
A:-BReodeuadoe
B:-esdedeu03oe
C:-ea0e2030¢
D:-esgdedodoe
Correct Answer:- Option-D

Question89:-8s ATREPTDOTN 3¢ Dersned VTH BOBAYPYS D> 008 B WY
BRgwmoN t3P0303ss

A:-e350CHEE
&
B:-&ﬁﬁg‘&&e
C:-0)VR®°
D:-Z02/00D25¢
&
Correct Answer:- Option-C
Question90:-znds ?oéﬁoé’(gﬁﬁab 90% d;-’so 8 BINT 0300w INENYT VBIYBOZsS?
A:-0FSO03E FBOTEd



B:-zgoéﬁoé‘g—-’ws 2393ed0dm
C:-2puned 13> BoYoNemeVnsd
D:-33008, ot
Correct Answer:- Option-D
Question91:-es3teedss’ HagsedSeRT oF BrdadVITS?
A~ 8305208 030 30308
B:-8)t8,05008 0d0on S30Edse reQ
C:-89e000m95, DR Y
D:-8¢800m95¢, 733006 Q)
Correct Answer:- Option-A
Question92:-3YNBJ)NYY 03IBo FNET B e303,0° Hobocer
A:-Z B3
B:-20350¢30°
C:-2302§,0° BI*
D:-gB0o3%ro00n°
Correct Answer:- Option-B
Question93:-2,080 Ban'a 50%° 1} evmemss
A:-zorio® gen® 2e5° S$0%°
B:-230Q o=
C:-30fa° e S50 JTAE
D:-33t3 83=° 0=
Correct Answer:- Option-B
Question94:-035o:3 @c‘)eog@ DMIEE3° e398™° e9§b PUZINRIZTS?
A:-508G0
B:-0930Q¢39
C:-ex8F Q&°
D:-590%°
Correct Answer:- Option-D

Question95:-x3A0dre YA © Bea® WTEY 00 9037ied wardrd HSrYon
BRTRYBIZLS?



A:-0dBODSF B3 I3,

B:-£39030e* B03 B> GLdBOLE® B3
C:-23B030e* B0 R0,

D:-28B030e* 803 303> BAEA Bo3

Correct Answer:- Option-D
Question96:-8)BcmamB Y e TS ToBRITIFB dQ?

A:-Br3eeRes0*
B:-33),t8,05008 0359
C:-§ua§ojos€
D:-ORR xR CI®
Correct Answer:- Option-A
Question97:-03593 3§$§b S0meeNe Taed 0B FEoRRIZT?
A:-3308930
B:-&)E)tz
C:-239030%20)
D:-30e9
Correct Answer:- Option-B
Question98:-geRo3ef gRotdean® YWOY FoBRITIZT
A:- 5o s®
B:-@adreops
C:-2392%9
D:-23¢
Correct Answer:- Option-B
Question99:-35¢8 FRCRPRCT N1ACH JPR) 030ox DedNY WS m&)cgé‘ﬁ VBT F030NT?
A:-0830 BZR®
B:-8,0) @ e3n’
Cl-dglﬁ)écgfo_"&as
D:-3e580°
Correct Answer:- Option-C
Question100:-0d5nHe é3§aa 5%)0‘ Blantoialea] a;ds“-mg z:‘s’e}‘rwﬁb @@%&g’o&xumg



A:-300330° 308
e3 23
B:-esogof ﬁgoﬁ
C:-ﬁazsos‘ 6&)0‘

D:-cbo@oifc) FOOE
23

Correct Answer:- Option-A



